
Problem	2a d1	(mm) -5.1069 M1 M2 M3 M4
exact d2	(mm) 3.8301 Q1	(kN) 4.0855 Q1	(kN) 5.1069 Q1	(kN) -14.808 Q1	(kN) -14.808

R3	(kN) 9.1923 Q2	(kN) -4.0855 Q2	(kN) -5.1069 Q2	(kN) 14.808 Q2	(kN) 33.192
R4	(kN) -33.1920

Problem	2b d1	(mm) -4.5283
n=1 d2	(mm) 3.3962

R3	(kN) 8.1509
R4	(kN) -32.1510

Problem	2b d1	(mm) -4.8869
n=2 d3	(mm) 3.6652

R4	(kN) 8.7964
R5	(kN) -32.7960

Problem	2b d1	(mm) -4.9931
n=3 d4	(mm) 3.7448

R5	(kN) 8.9786
R6	(kN) -32.9880

Problem	2b d1	(mm) -5.0381
n=4 d5	(mm) 3.7786

R6	(kN) 9.0686
R7	(kN) -33.0690

Problem	2b d1	(mm) -5.0611
n=5 d6	(mm) 3.7958

R7	(kN) 9.1099
R8	(kN) -33.1100


